MATH 141
SPRING 2017 NAME:
Exam 2

L. Find the area of the region bounded by the curves:

x q 8
an = .
y 241

2. Use integration by parts to evaluate

1/V2
/ ytan~' o dy.
0

3. Use integration by parts to determine

/msinxcosx dx.

4. Determine the trigonometric integral

/sin3 B cos’® Bdp.

5. Use a trigonometric substitution to evaluate

6v/3 2
/ T
6 (C]2 + 36)2

6. 10 pts. each

(a) Find the area of the region R bounded by the curves f(z) = (9 + 22)7Y2 2 =0, 2 = 4, and
y = 0. See figure below.

(b) Find the volume of the solid generated when R is revolved about the z-axis.
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7. Use partial fractions to find the indefinite integral.
® [T ®
(b) / %dl‘
8. Evaluate the improper integral, or show that it diverges.

(a) /__2%(125

o0

(b) / ze ¥ dy

o0

0 [ e

FORMULAS

tanz =y & tan"ly=ux, forxe (—7/2,7/2)

cotr =y & cot™ly=ux, forxze (0,n)
0,7/2) U (7/2,7]
—m/2,0) U (0,7/2]

e secr=y & sec ly=2x, forze]

e cscr=y & csc ly=ux, forxe
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/secxdax = In|secx + tan x| + ¢, /csca:dxz —In|cscx +cotzx|+¢



